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Instructions:

1. All Questions are Compulsory.
2. Figures to the right indicate full marks

Q.1.Choose the Correct alternatives from the following. 8

1

A book called the Aborigines so called and their future was published by ............ after studying the
primitive social system microscopically.

a. A.R. Desai b. M. N. Srinivas K. Irawati Karve d. GS Ghurye

2 Dr. G.S. Ghurye stated that the main reason for the backwardness of the Indian tribe was .............
a. Faulty integration b. Social mobility c. Secularism d. None of the above
3 This country has the largest number of tribes in the world.
a. America b. England c. France d. India
4  There is a national feeling in this country that we are all one.
a. India b. America c. France d. England
5 The book Social Change in Modern India is written by .................
a) MN. Srinivas b) Radha Kamal Mukherjee ¢) AR Desai d)S C Dubey
6  The book The Social Organization of South India is written by ...............
a) Herbert Risley b) MN Srinivas ¢) Yogendra Singh d) AR Desai
7  Dr. MM Srinivas has studied the Kshatriyas of the Okaliga caste of this village.
a) Rampura b) Coorg c) Lonikand d) Shamir Peth
8  While analyzing the transformation in Indian society, Dr. MS Srinivas proposed the concept of ............
a) Brahminization b) Westernization c¢) Culturalization d) Dominant caste
Q.2.Write short Notes (Two out of Three) . 10
1  Biography of Dr. G.S. Ghurye
2 Biography of M.N. Srinivas
3 Concept of Brahmanization
Q.3 . Answer the following question on broad. (One out of two). 12
1 Explain study of Indian Tribes by Dr. G.S. Ghurye.
2 Explain concept of Westernization by M. N. Srinivas.
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